
Pattern note: Take care to ensure each dec of patt is matched by an inc. If 
there are insu�cient sts to work both, work end sts of rows in st st.

BACK  
Using 4mm (US 6) needles cast on 105 [117: 131: 145: 163] sts.
Work in patt as folls:
Row 1 (RS): K2 [4: 1: 2: 1], (K2tog, K3, yfwd, K1) 1 [0: 0: 1: 1] times, 
*yfwd, K3, sl 1, K2tog, psso, K3, yfwd, K1, rep from * to last 7 [3: 0: 7: 6] sts, 
(yfwd, K3, sl 1, K1, psso) 1 [0: 0: 1: 1] times, K2 [3: 0: 2: 1].
Row 2 and every foll alt row: Purl.
Row 3: K2 [4: 1: 2: 1], (K2tog, K2, yfwd, K2) 1 [0: 0: 1: 1] times, *K1, yfwd, 
K2, sl 1, K2tog, psso, K2, yfwd, K2, rep from * to last 7 [3: 0: 7: 6] sts, (K1, 
yfwd, K2, sl 1, K1, psso) 1 [0: 0: 1: 1] times, K2 [3: 0: 2: 1].
Row 5: K2 [4: 1: 2: 1], (K2tog, K1, yfwd, K3) 1 [0: 0: 1: 1] times, *K2, yfwd, 
K1, sl 1, K2tog, psso, K1, yfwd, K3, rep from * to last 7 [3: 0: 7: 6] sts, (K2, 
yfwd, K1, sl 1, K1, psso) 1 [0: 0: 1: 1] times, K2 [3: 0: 2: 1].
Row 7: K2 [4: 1: 2: 1], (K2tog, yfwd, K4) 1 [0: 0: 1: 1] times, *K3, yfwd, sl 1, 
K2tog, psso, yfwd, K4, rep from * to last 7 [3: 0: 7: 6] sts, (K3, yfwd, sl 1, K1, 
psso) 1 [0: 0: 1: 1] times, K2 [3: 0: 2: 1].
Row 9: K3 [3: 0: 3: 2], (K2tog, K3, yfwd, K1) 0 [1: 1: 0: 0] times, *yfwd, K3, 
sl 1, K2tog, psso, K3, yfwd, K1, rep from * to last 2 [8: 5: 2: 1] sts, (yfwd, K3, 
sl 1, K1, psso) 0 [1: 1: 0: 0] times, K2 [3: 0: 2: 1].
Row 11: K3 [3: 0: 3: 2], (K2tog, K2, yfwd, K2) 0 [1: 1: 0: 0] times, *K1, yfwd, 
K2, sl 1, K2tog, psso, K2, yfwd, K2, rep from * to last 2 [8: 5: 2: 1] sts, (K1, 
yfwd, K2, sl 1, K1, psso) 0 [1: 1: 0: 0] times, K2 [3: 0: 2: 1].
Row 13: K3 [3: 0: 3: 2], (K2tog, K1, yfwd, K3) 0 [1: 1: 0: 0] times, *K2, yfwd, 
K1, sl 1, K2tog, psso, K1, yfwd, K3, rep from * to last 2 [8: 5: 2: 1] sts, (K2, 
yfwd, K1, sl 1, K1, psso) 0 [1: 1: 0: 0] times, K2 [3: 0: 2: 1].
Row 15: K3 [3: 0: 3: 2], (K2tog, yfwd, K4) 0 [1: 1: 0: 0] times, *K3, yfwd, 
sl 1, K2tog, psso, yfwd, K4, rep from * to last 2 [8: 5: 2: 1] sts, (K3, yfwd, sl 1, 
K1, psso) 0 [1: 1: 0: 0] times, K2 [3: 0: 2: 1].
Row 16: Purl.
These 16 rows form patt.
Cont in patt until back meas 7 [8: 9: 11: 12] cm, ending with RS facing for 
next row.
Keeping patt correct, dec 1 st at each end of next and foll 10th row, then on 
2 foll 8th rows, then on 2 foll 6th rows. 93 [105: 119: 133: 151] sts.
Work 13 [13: 13: 9: 9] rows, ending with RS facing for next row.
Inc 1 st at each end of next and 5 foll 8th rows, taking inc sts into patt. 
105 [117: 131: 145: 163] sts.
Work 15 rows, ending with RS facing for next row. (Back should meas 
approx 39 [40: 41: 42: 43] cm.)
Shape armholes
Keeping patt correct, cast o� 5 [6: 7: 8: 9] sts at beg of next 2 rows. 
95 [105: 117: 129: 145] sts.
Dec 1 st at each end of next 3 [5: 7: 7: 9] rows, then on foll 4 [4: 5: 7: 9] alt 
rows, then on foll 4th row. 79 [85: 91: 99: 107] sts.
Cont straight until armhole meas 19 [20: 21: 22: 23] cm, ending with RS 
facing for next row.
Shape shoulders and back neck 
Next row (RS): Cast o� 5 [5: 6: 7: 7] sts, patt until there are 19 [22: 22: 25: 28] sts 

  

SIZE
 S M L XL XXL 

To �t bust
 81-86 91-97 102-107 112-117 122-127  cm 
 32-34 36-38 40-42 44-46 48-50  in 

YARN
Tetra Cotton

 9 10 11 12 14  x 50gm  
 (photographed in Idra 003)

NEEDLES
1 pair 4mm (no 8) (US 6) needles

3¼mm (no 10) (US 3) circular needle, at least 100cm long

BUTTONS 
6 x BN1785 from Bedecked. Please see information page for 

contact details.

TENSION 
23½ sts and 34 rows to 10 cm 

measured over patt using 4mm (US 6) needles.

Assam
••• 

Image page 12, 14 & 15 
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